
*!*Szereg homologiczny alkanów*!*

Wybierz wzór sumaryczny danego alkanu

Poziom trudności: Średni

1. Etan

A - C2H6

B - C5H12

C - C7H16

2. Pentan

A - C3H8

B - C6H14

C - C5H12

3. Butan

A - C4H10

B - C5H12

C - C10H22

4. Heptan

A - C8H18

B - C7H16

C - C4H10

5. Nonan

A - C9H20

B - C4H10

C - C3H8

6. Oktan

A - C3H8

B - C8H18

C - C6H14
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7. Dekan

A - CH4

B - C4H10

C - C10H22

8. Heksan

A - C2H6

B - C4H10

C - C6H14

9. Metan

A - C4H12

B - C5H12

C - CH4

10. Propan

A - C3H8

B - C5H12

C - C9H20
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*!*Szereg homologiczny alkanów*!*

Wybierz wzór sumaryczny danego alkanu

Poziom trudności: Średni

Karta odpowiedzi

1. A

2. C

3. A

4. B

5. A

6. B

7. C

8. C

9. C

10. A
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